&R 2

At BEEUEE

X B £ #&
1. A2 2451 0 H O¥ERER
(1) fEMERIINER, (BHFHAL - BN, AR YR A)
EEVES it o -
NEREE e i s
4 K 90 605 810 74. 7% 58. 3%
F 5 #) & 27 226 345 65. 4%
e S5 B 59 329 415 79. 4%
5 3 & HhE 3 50 50 100. 1%
(2) FEHEDOIRD XAEM ARG ETA DT AN A DRI N B 5
10 A SRHif 4 $Ez > Eirr (P& 19:5% 11% e
AR T 2 2 21 65 21
BEWEE ONHIZ X D H4E 2 8 4801
ERIONIRA S 0 4 0 4 8 81t
FEITRAE 21 81 3921
TREERSRETE I X A RO 01t 14 1724
K | e | ors s 1 Ao
=77 ¢ x> NGHIE R 0 4 0 4 2331
- AR AR CERR 2 2481 0 ARBBUE) : 36 fF
L MEBEE NS O - BEY - EESICHOWT M - BEY - BRSSO
(1) Fpl2 2$E£J:ﬂ;ﬁimjuﬂ (HLT « 1)
4 A 5H 6 H 7H 8 H 9 A ARt (RERkCEL %)
Fhi- FIEICEE 2D 0 0 0 2 1 1 4 (13.8%)
fEABORFE FIEIZET 550 0 1 0 0 0 0 1 (3. 4%)
EHERES - REEICBI T 0b D 3 0 0 1 2 0 6 (20. 7%)
OO T 250 0 0 0 0 1 0 1 (3. 4%)
ERHEE B A0 0 0 0 1 2 0 1 4 (13. 8%)
HLRITET b0 0 1 3 2 1 1 8 (27. 6%)
Z DA, 1 1 2 1 0 0 5 (17.2%)
& Fh 4 3 6 8 5 3 29 (100. 0%)
(2) Fpk2 TAEETH - Pk 2 2405 B (A : F)
2104E 10 H~224E3 A | 2244 H~224E9 O
P (SRR %) T (SRR %) T (SRR %)
Fioi- FINEIZE T 26D 5 (17. 2%) 4 (13. 8%) Al (A3 1%)
fEANBDIRFE HFIEIZET 550 1 (3. 4%) 1 (3. 4%) 0 (0. 0%)
EHERES - RRIEICBI T 2b D 3 (10. 3%) 6 (20. %) +3 (+10. 3%)
L HODOIKIZET 28D 6 (20. 7%) 1 (3. 4%) A5 (A17.2%)
ERHEE B 50 0 6 (20. 7%) 4 (13. 8%) A2 (A6.9%)
HLRICET LD 5 (17. 2%) 8 (27. 6%) +3  (+10. 3%)
Z DA, 3 (10. 3%) 5 (17. 2%) +2 (+6.9%)
& Fh 29 (100. 0%) 29 (100. 0%) 0




